SUPPLY – Achievement Standard 1.3
OBJECTIVES:

· construction of a supply schedule from given data for an individual firm

· drawing a supply curve for an individual firm from given data

· illustration of a movement along the supply curve

· Illustration of a shift of the supply curve.
· explanation of a movement along the supply curve and/or a shift of the supply curve

· identification and description of the causes of these changes in the supply curve

· explanation of the implications of a shift of a supply curve

· illustration and explanation of how a firm will react to a change in costs and prices.

We have looked at demand, which deals with consumers, and how changes in price affect the quantity demanded of a product.

We are now going to look at producers (people who make and / or provide goods and services (commodities).

Supply is the quantity or amount of goods and services that a producer is willing and able to provide / produce at a certain price. The higher the price of a commodity the more the producer is willing to sell.

As the price of a commodity increases the producer makes more profit and so is willing to supply more of the good.

For the quantity supplied to increase though, the producer has to be both willing and able to supply more of the commodity. If the price increases they will make more profit and so they are willing to supply more but they have to be able to supply more as well.

Like for demand, the quantity a producer is willing to supply at each price can be shown on a supply curve.

Below is a supply schedule for Scott, the owner of an ice-cream factory. The supply schedule shows what quantity he is willing to supply at each price.

                           SUPPLY SCHEDULE FOR SCOTT’S GELATO ICECREAM
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From the above supply schedule we can deduce the law of supply as the price increases the quantity supplied will also increase. Just like with demand the law of supply assumes Ceteris Paribus – all other things remain unchanged (the only thing that changes is price).

QUESTIONS:

1. How much would Scott supply if the price was $1.00?

500



2. What happens to the quantity supplied as the price increases? 
Quantity increases



Why does this happen?
Producer makes more profit




















3. Use the following information to construct a supply schedule for Dean’s Pizzas.
Dean is the owner of a local Pizza shop. At present the price he can get for his pizzas is $10 and he is willing to supply 200 per week. Last month he was only able to get $8.00 for his pizzas and he only supplied 150 per week. Dean is hoping that next month the price of pizzas will rise again, if the price went to $12.00 he would supply 250 but if he’s lucky and the price goes to $14.00 he will supply 300 pizzas a week.


Supply Schedule For  Dean’s Pizza’s
	P($)
	QS

	8.00
	150

	10.00
	200

	12.00
	250

	14.00
	300


SUPPLY SCHEDULES AND SUPPLY CURVES.

From the information contained in a supply schedule we can construct a supply curve.[image: image9.wmf]ZAC'S SUPPLY OF MOUNTAIN BIKES 
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Amy’s Supply Schedule                     
                                               For Necklaces.
	P($)
	QS
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Things to note: the titles of both the supply schedule and supply curve. On the graph both axis have been clearly labelled, along with the supply curve (line). The line passes through all the 

QUESTIONS: 1. Use the following supply graphs to construct supply schedules.

	Zac’s Supply Schedule For

	Mountain Bikes

	P($)
	QS

	800
	100

	1000
	200

	1200
	300

	1400
	400

	1600
	500

	1800
	600

	2000
	700
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	Dean’s Supply Schedule

	For Ice Blocks

	P($)
	QS

	0.50
	50

	1.00
	100

	1.50
	150

	2.00
	200

	2.50
	250

	3.00
	300


2. Use the following supply schedules to construct a supply curve.

  a)             SUPPLY SCHEDULE FOR SEAN’S APPLE PIES.

	P($)
	QS 

	1.00

1.50

2.00

2.50

3.00
	100

150

200

250

300



Sean’s Supply of Apple Pies
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b)            Construct a supply curve from the following supply schedule.

                 SUPPLY SCHEDULE FOR MEGUMI’S SUSHI

	P($)
	QS (00’s)

	2.20

2.40

2.60

2.80

3.00

3.20
	3

4

5

6

7

8


SUPPLY FOR MEGUMI’S SUSHI
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c)  What is the law of supply?










As PRICE INCREASES THE PRODUCERS WILL PROVIDE MORE OF THE COMMODITY.
Increase in price will increase the quantity supplied. Assuming Ceteris Paribus.







d)  Why is a producer willing to supply more of a good as price increases?




Because they are able to make more profit.





e)  What is a producer?
Someone who makes or provides a good or service.











f) What is a commodity?
A good or service.



















g) Define supply

The amount of goods or services a producer is willing and able to provide at a given price.





MOVEMENTS ALONG THE SUPPLY CURVE.

A movement along the supply curve will only result from a change in price. (assuming ceteris paribus). An increase in price will result in a movement up along the supply curve.
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QUESTIONS:

1. On the following supply curve clearly show what will happen if the price increases from $2000 to $4000.







2. Use the following information to construct a supply graph for Easter Eggs.

	P($)
	QS (000’s)

	1.00

1.10

1.20

1.30

1.40

1.50
	2

4

6

8

10

12
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a) On your graph clearly show what will happen if the price increases from $1.10

       to $1.50.

b) On the same graph, show what will happen if the price decreases from $1.40 to $1.20.

MARKET SUPPLY.
Market supply is the total supply that all individual firms in the market are willing and able to produce at a range of prices – how much the whole market (all producers) are willing to supply.

Market supply is found by adding up all the individual producers supply at each price.

e.g.

MARKET SUPPLY SCHEDULE FOR CD’s IN PALMY

	P($)
	PRODUCER 1 QS (00’s)
	PRODUCER 2 QS (00’s)
	PRODUCER 3 QS (00’s)
	PRODUCER 4 QS (00’s)
	MARKET SUPPLY (00’s)

	22
	1
	2
	3
	1
	7

	24
	2
	4
	6
	2
	14

	26
	3
	6
	9
	3
	21

	28
	4
	8
	12
	4
	28

	30
	5
	10
	15
	5
	35



     Producer A                 Producer B             Producer C           Market Supply

P
S
P
S
P
S
P
S


+                          +                  =  










Q
            Q
                 Q
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QUESTIONS:
	DAVE’S COOKIES

	P($)
	QS

	1

2

3

4

5
	2

8

14

20

26


1. The tables below show the quantity supplied by three firms who make cookies. Graph the market supply from this information.

	MARION’S COOKIES

	P($)
	QS

	1

2

3

4

5
	1

7

13

19

25


	MEG'S COOKIES

	P($)


	QS



	1

2

3

4

5
	0

5

10

15

20


P($)

MARKET SUPPLY FOR COOKIES
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a) On your supply curve clearly show what will happen if the price decreases from $3 to $1.

b) Complete the following sentence.
An iNCREASE



 in price will cause a mOVEMENT


 along the supply curve and an iNCREASE


 in the qUANTITY


sUPPLIED



A dECREASE


 in price will cause a MOVEMENT      

 along the 
SUPPLY

 curve and a 
DECREASE in the QUANTITY  SUPPLIED          .

c) Match the terms with the phrases.

	TERM
	PHRASE
	ANSWERS

	1. Supply
	a) All other things remaining unchanged.
	1
	E

	2. Profit.
	b) A graphic representation of a firm’s willingness to supply a particular good or service.
	2
	D

	3. Law of supply.
	c) The amount for which a good or service can be sold.
	3
	F

	4. Price.
	d) Having money left over from revenue once expenses have been paid.
	4
	C

	5. Ceteris Paribus
	e) The amount of a good or service a firm is both willing and able to supply at a given price.
	5
	A

	6. Supply schedule.
	f) As the price increases the quantity supplied increases, ceteris paribus.
	6
	G

	7. Supply curve.
	g) A table showing combinations of price and quantities that a firm is willing to supply.
	7
	B


d) Use the following words to fill in the missing gaps to complete the sentence.

quantity supplied
price
willing
curve
title
amount
fall
horizontal
schedule
prices
even
price
curve
quantity supplied
quantity
up
decrease
title
line
axes
labels

Supply is the quantity of a commodity which a firm is WILLING
 to supply at various PRICES. A supply SCHEDULE
 is a table which provides information on the QUANTITY of a good or service that a firm is willing to supply at certain prices. It must have a TITLE at the top stating what the table is, who for, what product and over what time period. The first column is headed 
PRICE
 and it must be clear as to what units are used – for example, dollars or cents. The next column matches the quantities supplied at those prices.
A supply CURVE
 shows the supply schedule information graphically. The PRICE
 is on the y-axis, or vertical axis. It is very important to include a title, to each of the axes. You can T. A. L. L. to remind you of this: 
, TITLE, AXIS, LINE AND LABEL

An increase in price will result in a movement UP  the supply curve and an increase in THE QUANTITY SUPPLIED  


. A 

DECREASE
 In price will result in a movement down the supply curve and a decrease in the 
QUANTITY SUPPLIED 

. 

The law of supply states that as price falls, the quantity supplied will 
FALL

e) Complete the following table to show the market supply for Honey Roasted
Peanuts.

MARKET SUPPLY SCHEDULE FOR HONEY ROASTED PEANUTS
	P($)
	Scott’s QS
	Bruce’s QS
	Steve’s QS
	Market Supply

	2.00

2.20

2.40

2.60

2.80
	5

7

9
11

13
	6

11
12

15

18
	2

6

10

14
18
	13
24

31

40

49


i) Now draw graph for the market supply of honey roasted peanuts.


MARKET SUPPLY FOR HONEY ROASTED PEANUTS
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	


          0       5      10    15    20    25    30    35    40    45    50     QS
                                               Q’                        Q         
ii)   On your graph clearly show what will happen if the price decreases from

     $2.60 to $2.20.

FACTORS AFFECTING THE SUPPLY OF GOODS AND SERVICES.

There are many factors that affect the producers decision to supply a good or service. They can be divided in to two main categories.

· Economic factors – these are the factors that are directly related to the business and over which the business has some control. These factors include things like
- wages.
- costs of production.
This includes the costs of resources such as labour and raw materials. The cost of services is also an influencing factor. Transport is a major cost of production for many firms. 
An increase in the cost of production will cause the supply curve to shift left (it is a bad thing) A decrease in the cost of production will cause the supply curve to shift right (it is a good thing).
- the price of the good.
- the price of related goods.
- the cost of raw materials.
- the cost of services, like insurance, electricity, water etc.
- technology.
Mechanisation, automation, computerisation, e-commerce , cell phone technology, are all new technologies that have helped firms to reduce their costs of production. It helps the business to work more efficiently causing the supply curve to shift right.


· Non-economics factors – these include
Legal factors
 Such as rules and regulation by the government. These include things like the resource management act, employment regulations, health and safety regulations, zoning laws for a city council etc.
The Resource Management Act is a law / regulation that has had a major influence on business costs in NZ. It aims to ensure that businesses take into account environmental factors when using their land.
City councils zone business into particular areas to try and ensure that business does not conflict with residential housing.
OSH –Occupational Health and Safety tries to ensure a minimum standard of safety at places of business.
Minimum wage legislation means that no one can be employed for below the minimum wage ($12.50 for adults).

Political Factors.
Increase in government spending in times of recession can help create jobs. Indirect taxes (GST) are often placed on goods. The government may also tax demerit goods and subsidise merit goods.

· Environmental Factors.
Pollution, concern about the environment and the conservation of resources have started to impact on the may many business’ produce goods. The flatulence tax that was to be introduced in NZ is an example of this. The Kyoto Agreement is also another example- it aims to reduce CO2 emission into the atmosphere and looks at placing a tax on companies that produce CO2, methane or other green house gases.
Companies that pollute may have an advantage with their cost of production as they don’t try to clean up their production. Regulations help to protect the environment from firm’s that don’t take care.

Trade factors.
Quotas – a restriction on the amount of goods or service allowed into the economy.
Tariff – a tax placed on goods being imported into a country.
Both of these two methods are used to help protect local industry.
ACTIVITIES:

1.

	Costs of production in a fast food outlet.
	Cost of resources.

(()
	Type of resource. (Natural etc.)
	Cost of service.

(()
	Type of tertiary service.

	Advertising.
	
	
	(
	Marketing 

	Ingredients.
	(
	Land
	
	

	Workers wages.
	(
	Labour
	
	

	power
	
	
	(
	Power

	Interest on loans.
	
	
	(
	Financial

	Rent.
	(
	Land
	
	

	Kitchen equipment.
	(
	Capital
	
	

	Insurance.
	
	
	(
	Financial

	Mortgage.
	
	
	(
	Financial


b)   Explain why businesses supply greater quantities at higher prices. 




They are able to make more profit



2.
Complete the table below, filling in all the missing figures.

                               MARKET SUPPLY FOR LAZI-PERSON CHAIRS

	FIRM
	SEANS
	ZACS
	DEANS
	MARKET SUPPLY

	Price ($)
	OUTPUT
	OUTPUT
	OUTPUT
	OUTPUT

	$100
	300
	400
	300
	1000

	$80
	250
	300
	250
	800

	$60
	200
	200
	200
	600

	$40
	100
	150
	150
	400

	$20
	75
	100
	25
	200

	$10
	50
	          50
	0
	100


3. Using the information in the supply schedule and the grid below, construct a market supply curve for Lazi-person chairs. 



MARKET SUPPLY FOR LAZI-PERSON CHAIRS
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4. On the supply curve you have drawn above, clearly show what will happen if there is a sales tax of $10 put on Lazi-person chairs.

5. Explain how the quantities for the market supply curve are calculated.




Horizontal summation of each producers supply at each price.



6. What is a tariff? A tax placed on imports.




    How could the imposition of a tariff on Lazi-person chairs influence the supply    

    decisions of a company like Zac’s?









A tariff is a tax on imports, which will add to Zac’s cost of production. This would cause a shift of the supply curve to the left causing a decrease in Supply. Zac is now less willing to supply as much because his cost of production has increased. They would supply less as their cost of production has increased.
7.There are a number of influences on a firm’s level of production that it has little control

    over. The headlines below indicate a range of these.


	1. New export markets open

up for New Zealand fruit.
	
	

	
	Quality of New Zealand manufacturers recognised by Auckland retail chain
	

	
	
	

	
	
	2. Government imposes tough new safety standards for New

    Zealand-assembled cars

	3. “Waste outflow from new industrial plant too much”. says local resident.
	
	

	
	
	4. Farming cost continue

     to rise.

	
	5. Government to reduce

     funding for private schools.
	


For each of the influences on production listed below, select the number of the one newspaper headline above that best illustrates this. Each headline may be used only once.

      Influence             Number

	Environmental
	3

	Political
	5

	Legal
	2

	Trade
	1


REDUCING COSTS

We have already looked at some ways in which a firm can reduce its costs of production.

These included

· Increased productivity.

· Increased capital.

· Economies of scale.

· New technology.

· Integration, both horizontal and vertical

SHIFTS OF THE SUPPLY CURVE.

As we saw earlier the only thing that can cause a movement along the supply curve is a change in price.

A change in anything else will cause a shift of the supply curve, which means there will be a whole new curve.

So a change in any of the following will cause the supply curve to shift.

· Cost of production (wages, cost of raw materials, the cost of services)

· Change in price of a related good.

· Change in productivity (new technology, economies of scale, division of labour).

· Political factors (indirect taxes, subsidies etc)

· Trade factors (tariffs, quotas, appreciation / depreciation of New Zealand dollar)

· Environmental factors (pollution, weather, Resource Management Act)

· Legal factors (laws etc.)

e.g.

DECREASE IN THE COST OF PRODUCTION


P($)

S
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S’
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The diagram shows that at the same price ($3)

the firm is now willing to supply more of the good

there has been an increase in supply.

A change in price will cause a movement along the supply curve and a change in the quantity supplied.

A change in any other factor will cause a shift of the supply curve and a change in supply.

SUPPLY

WHAT A FIRM IS BOTH WILLING

AND ABLE TO SUPPLY AT A GIVEN PRICE.

CHANGE IN PRICE?



YES

NO

MOVEMENT ALONG                     CHANGE IN OTHER 


THE CURVE
   FACTORS?




(cost of production, related good, 


CHANGE IN QUANTITY
  Political, environmental, trade 


SUPPLIED
  legal).


INCREASE IN PRICE
 CHANGE IN SUPPLY


P($)
S
(NEW CURVE)



P’
INCREASE IN COST OF

PRODUCTION


P($)
S’


P
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INCREASE IN QUANTITY SUPPLIED
Q’
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Q



DECREASE IN SUPPLY

                   DECREASE IN PRICE
DECREASE IN COST OF 


P($)
PRODUCTION

S
P($)
S


P


S’


P


P’


   

     Q’          Q
Q


Q
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DECREASE IN QUANTITY SUPPLIED


INCREASE IN SUPPLY

An increase in the cost of production will shift the supply curve to the left and cause a decrease in supply
A decrease in the cost of production will shift the supply curve to the right and cause an increase in supply.
INDIRECT TAXES AND SHIFTS IN THE SUPPLY CURVE

An indirect tax in a tax placed on a product by the government (political factor).

Indirect taxes include

· GST (Goods and Services tax).

· Taxes put on demerit goods (alcohol etc.)

A tax may be put on for a good the government or society believes is bad for us – a demerit good e.g. alcohol.

An indirect tax will increase the cost of production and shift the supply curve to the left by the vertical distance of the tax.

e.g. If the government puts a tax of $2 on Marriagwanna

Market Supply for Marriagwanna
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 QD
So if the price before was $1 then you will need to shift the curve vertically by the amount of $2.
AN INCREASE IN AN INDIRECT TAX WILL ALWAYS SHIFT THE CURVE TO THE LEFT
REMEMBER INCOME TAX IS A DIRECT TAX AND WILL SHIFT THE DEMAND CURVE.

SUBSIDIES

A subsidy is money paid to a firm to encourage the production of the commodity. A subsidy lowers the cost of production.

A subsidy may be put on for a good the government or society believes is good for us – a merit good e.g. education.

A subsidy will shift the supply curve to the right by the vertical distance of the subsidy.

e.g. If the government decides vaccinations are a good thing and subsidises them by $2.

Market Supply for Marriagwanna
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So if the price before was $3 then you will need to shift the curve vertically by the amount of $2.

AN INCREASE IN A SUBSIDY TAX WILL ALWAYS SHIFT THE CURVE TO THE RIGHT

RELATED GOODS (ALTERNATIVE GOODS)

In some cases a firm may have more than one choice about what kind of good it will produce from the same input.

e.g. 

A company uses wool to produce blankets or carpets


SHEEP



  WOOL  



50%
50%


If the price of carpets were to increase then the company may change away from blanket production and produce more carpets. The price of blankets hasn’t changed but there are now less blankets being produced and more carpets.

This can be shown on the following diagrams

SUPPLY OF CARPETS
SUPPLY OF BLANKETS


S
S’


S

       P’


P

        P




Q
Q’
Q’
Q

IMPLICATIONS OF A SHIFT OF THE SUPPLY CURVE TO THE LEFT (A DECREASE IN SUPPLY)

· Loss in profit for the firm

· Loss in income for workers.

· Loss of jobs as people are laid off.

· Loss of income / profit for other firms in the community as the effect of job losses flows on (domino effect).

· Loss in jobs and profit for firms that relied on the firm for business.

IMPLICATIONS OF A SHIFT OF THE SUPPLY CURVE TO THE RIGHT (A INCREASE IN SUPPLY)

· Increase in profit for the firm

· Increase in income for workers.

· Increase in jobs as firm hires more people due to increase in production.

· More income for the community as firm and workers have more income.

· More work for firms that relied on the firm for business.

QUESTIONS

1. Use the following supply schedule to draw a supply graph.


SUPPLY SCHEDULE FOR ZAC’S PENS

	P ($)
	QS (000’s)

	1
	3

	1.20
	5

	1.40
	7

	1.60
	9

	1.80
	11
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a) On the graph you have drawn clearly show what happens if the price increases from $1.20 to $1.80.

b) Zac finds that the wage rate for his employees has decreased. Show on your diagram what happens to the supply curve if there is a decrease in the cost of production.

c) Name four other factors that can cause a shift of the supply curve.
Change in cost of production, change in wages, indirect taxes, subsidies, rules and regulations, environmental factors.
2. Scott owns a dairy factory on the outskirts of Palmerston North. He employs 10 workers and is looking at ways to increase his productivity. The supply schedule below shows how much butter Scott is willing to produce at each price.


SCOTTS SUPPLY SCHEDULE FOR BUTTER

	P($)
	QS (000’s)

	5
	2

	6
	4

	7
	6

	8
	8

	9
	10

	10
	12


a) Draw a supply graph for Scott.


SCOTT’SUPPLY OF BUTTER
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b) On your graph clearly show what happens if the price of butter falls from $9 to $6.

c) Name three ways in which Scott can increase productivity.




More technology, more capital intensive, division of labour, specialisation in management.













d) Assuming Scott increased production by 1000 at each and every price through increased productivity, clearly show this on your supply curve.

e) The price of cheese (a related good) increases from $3 to $5. On your supply graph for milk clearly show what will happen if the price of cheese does increase.

3. Draw a supply graph from the following supply schedule.


    AMY’S SUPPLY SCHEDULE FOR CD’S

	P($)
	QS (00s)

	20
	2

	22
	3

	24
	4

	26
	5

	28
	6
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a) On your diagram clearly show what happens if the government increases GST by $2.00.

b) What kind of tax is GST? What does GST stand for?
Indirect tax – Goods and services tax





4. Fill in the following table to calculate market supply. 
                           MARKET SUPPLY FOR DOOPLERS

	P($)
	PRODUCER 1 (QS 000s)
	PRODUCER 2 (QS 000s)
	PRODUCER 3 (QS 000s)
	PRODUCER 4 (QS 000s)
	PRODUCER

 5 (QS 000s)
	MARKET SUPPLY (QS 000s)

	100
	2
	3
	1
	4
	2
	12

	110
	2
	6
	2
	8
	3
	21

	120
	6
	9
	3
	12
	4
	34

	130
	8
	12
	4
	16
	5
	45

	140
	10
	15
	5
	20
	6
	56

	150
	12
	18
	6
	24
	7
	67
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5. What is market supply?
Horizontal summation of each producers supply at each price.





















7. Draw a graph for the market supply of dooplers.

8 Clearly show what happens if the price increases from $110 to $140.

9. What is the law of supply?

An increase in price will cause an increase in the quantity supplied (ceteris paribus)















10. The government considers dooplers to be a merit good.
    What is a merit good?
A good that is considered good for you.

11. Name four other merit goods.
Education, medicine, law, fruit.















12. The government wants to encourage the consumption of dooplers and subsidises them by $10, clearly show this on your graph, assuming a price of $140.
13. Fill in the following supply schedule.

      MARKET SUPPLY FOR SMACKOO

	P($)
	PRODUCER 1 (QS 000s)
	PRODUCER 2 (QS 000s)
	PRODUCER 3 (QS 000s)
	PRODUCER 4 (QS 000s)
	MARKET SUPPLY (QS 000s)

	10
	5
	1
	3
	2
	11

	20
	7
	2
	6
	4
	19

	30
	9
	3
	9
	6
	27

	40
	11
	4
	12
	8
	35

	50
	13
	5
	15
	10
	43


14. Draw a supply curve for smackoo.

15. The government considers smackoo to be a demerit good, what is a demerit good?


A GOOD THAT IS CONSIDERED BY SOCIETY TO BE BAD FOR YOU AND CONSUMPTION IS DISCOURAGED.


16. The government puts an excise tax of $10 on the good to discourage consumption, clearly show this on your graph.
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17. How effective is a tax in discouraging consumption of different goods?




Taxes increase the price and so people are less willing to buy as much of it. –They are effective if people consume less.
















18. If the tax is successful and the consumption of smackoo falls. What are the implications for the firm and the community?
























The firm will make less profits and so production will fall, this will lead to a loss in jobs as less people are now needed – this may lead to other businesses in the community having a loss in profits causing them to reduce staff as well.





Worldwide Music is a producer of CDs. Their supply is influenced by a number of factors.

QUESTION ONE
(a)
On the supply graphs provided, show the effect that EACH event below has on the supply of CDs by using appropriate lines, labels and arrows.

Event 1: Increased wages for workers
Event 2: Division of labour                      
who produce CDs                                         improves the productivity of 


CD workers


(a) The graphs below show the effect of other events that have impacted on the supply of CDs. In the space provided under each graph, identify a specific event (other than Events 1 and 2 above) that would cause the supply change shown.



QUESTION TWO
[image: image1.jpg]Mereana'’s father sells sports gear and clothes in his sports shop. One popular item is a
windbreaker that is supplied by a local company called Expo-sure.





(a)
What is supply? The amount a producer is willing to provide at a given price.
(b)
What does ‘ceteris paribus’ mean? All other factors remain unchanged.
(c)
List TWO factors that could cause a decrease in supply of windbreakers by Expo-sure. 


(1)
Increase in Cost of production, Increase in wages, increase in price of a related good, increase in indirect tax, increase in cost of raw materials,  tariff imposed.




(2)











(d)
Identify TWO factors from the following list that may contribute towards the cost, for Expo-sure, of producing each windbreaker. 

A

cost of zippers for windbreakers
B

machinists’ labour for sewing windbreakers 
C
advertising the windbreakers
D
cost of purchasing windbreakers
E

packaging of windbreakers
Factor: 























Factor: 

























QUESTION THREE
(a)
Complete the graph below to illustrate the effect on the supply of windbreakers of a decrease in price from $42 to $40. Use arrows, labels, and dotted lines to show the change.

[image: image2.wmf]
(b)
Identify the change in quantity:


The decrease in price has led to







A DECREASE IN QUANTITY SUPPLIED OF 20 000
.

(c)
Identify the change in revenue for Expo-sure:
The decrease in price has led to  a 
DECREASE IN REVENUE





 of
920 000

 dollars.

(d)
Explain why the supply curve slopes up to the right.






AS PRICE INCREASES THE PRODUCER MAKES MORE PROFIT AND SO IS WILLING TO PROVIDE MORE. SO QS INCREASES ASSUMMING CETERIS PARIBUS

QUESTION FOUR
	(a) 
	For each graph above, describe the market situation. 

	
	Graph A: Increase in supply

	
	Graph B: Decrease in supply

	
	Graph C: Decrease in quantity supplied

	
	Graph D: Increase in quantity supplied

	(b) 
	For each of the graphs on the previous page, describe a possible cause of the change. 

	
	Graph 
	Possible Cause 

	
	A Decrease in cost of production, decrease in wages, decrease indirect tax, subsidy, less regulations….


	
	B 

Increase in cost of production, increase in wages, increase indirect tax, more / stricter regulations….


	
	C 

Decrease in price


	
	D 

Increase in price



(c)
If Expo-sure switched production from windbreakers to tents, describe the resulting change in supply for: 


(i)
windbreakers 

Supply would decrease – resources would be taken away from windbreaker production.



(ii)
tents 
increase in supply as more resources are used in tent production.








(d)
Outline a likely reason why Expo-sure would produce fewer windbreakers and more tents.











Increase in price of tents – since this is a related good Exposure would divert resources away from windbreaker production towards tent production meaning supply of windbreakers would decrease and since they now make more profit with tents as the price increases quantity supplied of tents would increase.





the law of supply 
Bev catches fish off the coast of New Zealand. Her weekly supply schedule of fish is shown in the table below.

Bev’s weekly supply of fish

	Price ($ per kg)
	Quantity supplied (tonnes)

	22
	125

	18
	75

	14
	25

	10
	0


(a) On the graph below, draw a supply curve that shows the data in the supply schedule above. Fully label the graph.


Title BEV’S WEEKLY SUPPLY OF FISH

S
[image: image3.png]




         25           50            75          100         125            QS (tonnes)

(b) Fully explain how the supply curve you drew on the previous page illustrates the law of supply. In your answer, you should:

· describe the law of supply using the supply curve you drew on the previous page as an example

· explain the reasons for the law of supply

· explain why Bev will not supply any fish at a price of $10 per kilogram.

REMEMBER D – E - R

The law of supply states that as the price increases the quantity supplied increases – assuming ceteris paribus. If the price of fish increases from $14 to $18 the quantity supplied by Bev increases from 25 tonnes to 75 tonnes because at the higher price Bev makes more profit.
At a price of $10 Bev is not willing to supply any fish because at this price she does not cover her costs of production and does not make enough profit for her to be willing to supply the fish. 
QUESTION TWO:  effect of investment
Bev has recently invested in a new fishing boat that has doubled her weekly catch of fish.

(c) On the sketch graph below, show the effect of this investment on Bev’s weekly supply of fish.

Bev’s weekly supply of fish


[image: image4.png]Price ($ per kg)
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(d) Fully explain how this investment will affect Bev’s business. In your answer, you should:

· explain why the new fishing boat will affect her weekly supply of fish as shown on the supply curve changes you drew on the previous page 
· describe ONE flow-on effect of this change in supply

· explain how that flow-on effect will impact on her business.

REMEMBER D – E - R
Investment is the buying of capital goods – Bev brought a new fishing boat which has meant that she can now catch twice as many fish because of an increase in efficiency.
Because of this increase in efficiency Bev is able to increase the supply of fish and is willing to supply more fish at the same price. This causes the supply curve to shift to the right showing an increase in supply from S to S2.
Due to the increase in supply Bev may have to increase the number of workers she emplyees to process the fish, she may also need to increase her amount of storage space to store the fish,

Bev may have to invest in a larger building or build new storage facilities so that she can have somewhere to store the excess fish.

Bev’s profits should increase with the increase in supply of the fish.

QUESTION THREE:  effect of a related good 
Bev has the fishing equipment to catch two main types of fish; salmon and snapper. Lately the price of salmon has risen from $20 per kilogram to $30 per kilogram.

(e) On the graph below, show the effect this rise in the price of salmon will have on Bev’s

weekly supply of salmon. 
Bev’s weekly supply of salmon

[image: image5.png]Price ($ per kg)
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(f) On the sketch graph below, show the effect this rise in the price of salmon will have on Bev’s weekly supply of snapper.

Bev’s weekly supply of snapper

[image: image6.png]Price ($ per kg)
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(g) Fully explain the effect of rising salmon prices on Bev’s weekly supply of snapper. In your answer, you should refer to the graph above and the one on the previous page.

REMEMBER D – E - R

Salmon and snapper are related goods – this means that they have the same inputs into the production process but 2 different outputs.
With an increase in the price of salmon Bev will increase the quantity supplied, which means that she will spend more of her time and equipment fishing for salmon.

This will mean that she will have less time to fish for snapper and so the supply of snapper will decrease cause a shift of the curve to the left from S to S2
The increase in price of a related good – salmon – has led to a decrease in supply of snapper from S to S2 as it is more profitable to fish for salmon rather than snapper.
QUESTION FOUR:  effect of an environmental factor
Bev’s weekly supply of fish is affected by environmental factors. 

Discuss the effect of ONE environmental factor on Bev’s weekly supply of fish. In your answer, you should:

· describe ONE environmental factor that could reduce Bev’s supply of fish

· explain how this environmental factor would reduce Bev’s supply of fish

· explain how this environmental factor would affect Bev’s supply curve 

· explain ONE flow-on effect that the change in the supply curve would have for Bev’s business.

You may sketch a supply curve to support your explanation in the box on the next page.
REMEMBER Describe Explain Relate back to the question.
	Environmental factor: Quota – restriction on amont of fish allowed to be taken. / pollution problem / fish not breeding etc



Due to falling fish numbers because of over fishing – the government could impose a quota to help make the fish more sustainable.
This would mean that Bev would not be able to catch as many fish and so her supply for fish would fall because should would not be able to catch as many fish, shifting the supply curve to the left.
With the reduced supply of fish Bev’s production and profits would fall and so she may need to reduce the number of peole she employees, meaning that she would need to lay off some staff.

      Bev’s weekly supply of snapper
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Just like with demand, to show an increase in supply you need to clearly show the changes. Label the initial price P and the price after the change P’. The change in price has lead to an increase in the quantity supplied from Q to Q’





Remember to draw a


 line from the axis to


 the supply curve to


 show  the change.
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Market supply is the horizontal summation of each producers supply at each price.





Market Supply is found by the horizontal summation of each individual producers supply at each and every price.








5


4


3P2


1P’


0





S





P($)











3.00   





2.80    





2.60  P





2.40   





2.20   P’ 





2.00








S





P($)











   





100.00   





80.00





60.00   





40.00   





20.00








S’





S





Remember to draw a


 line from the axis to


 both supply curves to


 show  the change.





Label the axis





Arrow to show the change and Q and Q’  clearly marked





Change by the vertical distance





The effect of a tax is to


 shift the supply curve


 by the VERTICLE distance of  the tax. So in this case by $2








Change by the vertical distance





The effect of a subsidy is to shift the supply curve  by the VERTICLE distance of  the tax. So in this case by $2.
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